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[ Quongp wHLIALETEST : 70

ST Ijemey : 2.30 wenfl CHIL ]
[Maximum Marks : 70

Time Allowed : 2.30 Hours ]
Sifleyenras : (1) SAoasg damésepnd sfursy uHard eeTersT eremupEens
gfluniggés Qarerataybh. ogaiUged @mpuﬂ]@ulﬁlm DMDE

gamarantuumrerflLid o | anguirss QsMell&sEaLd.

2 Beob b SMmUY ewudeer ol HGCw Gr@gjmgyg)@m
SNy G5 Heush@h LweaL(ss Geuamhib. UL RISET euamreusD@
Cluendled LwerL(HSSeLb.

Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

Instructions : (1)

(2)

u@$ -1 /PART -1
Gy : () Sverss lamssEnsELD eflenLwiafldseLb. 15x1=15
i) Qar@ssiul@erar wrHP deoLsefid Wsab ghymLwW
derL_eows CsibelsbHssS GO GLen ellenulenanyd Caigg
GT(PHELD.
Note : (i)  All questions are compulsory.
(i) Choose the most appropriate answer from the given four alternatives and

write the option code and the corresponding answer.
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1. Qapper erpg aumder spy. OR MAdlen Qoyefium e goodiprs wIDHE
QAsrH&EEw ?
(1) NOR (<) XNOR (®) AND () OR
Which gate circuit is an OR gate followed by an inverted ?
(a) NOR () XNOR (c) AND (d) OR
2. Qoupger areng LwearuBEH LCD LQrmOgmsLi ciwag s Sorows
sertlaflyLen Qeernrésamd ?
(1) SCsI port (<) VGA connector
(@) USB port (IT) PS/2 port
Which is used to connect a monitor or any display device like LCD projector to a
computer ?
(a) SCSI port (b) VGA connector
(c) USB port (d) PS/2port
3.

Ubuntu -& 2 dreflenembs e Digpeed UWGTLITL 6L sy :
(=) Internet Explorer (<gy,) Chrome
(@) Thunderbird (w) Firefox

Identify the in-built email software in Ubuntu :
(@) Internet Explorer (p) Chrome

(¢) Thunderbird (d) Firefox
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g QaTESIULL el G gy g, o aref(® wHmb Coeneuwirar

@eupmre ! oo
Qauais® apduappsd @oLCuune ggriysoa GHEGD ?
(=) ApdlperD (<) uenuwenD
(@) leurs GHILY (F)  snmuéssien

Which is specified by the properties of the given input and the relation between the
input and the desired output ?

(a) algorithm (b)  definition
(¢) specification (d) statement

Cl1 erenug Qumi wHYLD C2 erarugl Gl erefled, QussiLBL &G Gl
Ty ?
if C1
51
else
if C2

SN TN N T O R C S

(=) S3 (<) S1 & S2 (@) S1 (/) S2

If C1 is false and C2 is true, which compound statement will be executed ?
' i

1 ifCl
2 S1

3 else

4 if C2

5 S2

6 else

7 s3

(@ S3 (b) S1&S2 () s1 (d) S2
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6.

WL&® wrHpuiled e @renLwlmS Bwée; Gov aitrig W iauflud @érena
() @euQeungy ghsppAuden (Pt

(<) Qpdoperpulen QgL &sbsle

(&) wLsfen Qgr_sssHe

(7) geuGeumm &pH&ude @grn_é;agﬁcb

A loop invariant need not be true :

(a) at the end of each iteration

(b) at the start of the algorithm

(c) at the start of the loop

(d) at the start of each iteration

a=5,b=6; eraflér a & b -ulen eNevL_ cremes 7
(=) 1 (=)0 (8) 4 (FF) 5
Assume a=>5, b=6 ; what will be the result of a & b ?

(@ 1 b) 0 (c) 4 d 5

for(int i=1; i<=10; i++) eTa0 LLEG eSS (WO Qukig ?

(=1) 9 ()11 (@) 0 (/) 10
for(int i=1; i<=10; i++)

How many times will the loop be executed ?

(@ 9 (b) 11 b © 0 @ 10

SRR I
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e® GHUDON TWHH WHDID 6Tain o e gur SIODS BODOW erenLmg,
sfluniés e gajb Qswuhamp erg ?

(<) isalnum() (<) islower() (@) isalphal) (FF) isdigit()

Which function is used to check whether a character is alphanumeric or not ?

(a) isalnum() (b) islower() (c) isalpha() (d) isdigit()
Qeupmier ety cuanrGuwdene QgafleyLiB&g D QFuHGSHWTSLD ?

(1) % () (@) > () &
Which of the following is the scope resolution operator ?

(@ % (b) (© > d &
cin>>n[4]; @bs FmpHY eTHS 2 miibed it 2 eretHin ?

(1) 4 ()2 (@) 5 () 3
cin>>n[4]; to which element does the statement accept the value ?

(@) 4 b) 2 © 5 @ 3

[ ;ﬁ@u'-la; / Turn over

WWW.QB365.IN
Scanned by CamScanner



‘

http://qb365.in/ https://www.qb365.in/materials/
1522 (NS) °
1. o s O @ifleilin Spss@TOID Qupe e Garers
struct Time
{
int hours;
int minutes;
int seconds;
It
CGuGe o érer Biflefude) seconds erey, SO wrhlow Gameibeamapy
5 GNEdng ?

(<) seconds (=) t.seconds
(&) Time.seconds () Time:seconds
A structure declaration is given below :
struct Time
{

int hours;

int minutes;

int seconds;
It;

Using the above declaration, which of the following refers to the structure variable

seconds ?
(@) seconds (b) t.seconds
(c) Time.seconds . (d) Time:seconds

13. QasgeysEer euamyu_ugua;asuu(am Q&wHammsar THS QFwhenmsemert
Gure Quirigdermer ?

(21) Outline QFwHsagser t <) 876y Qswipeny

(
(&) Inline QawpHsayser ,, () Non-inline Q&wifgn myaer
The member function defined mt@ the class behave like ;

(@) Outline function (b) Data function

() Inline function (d) Non-inline function
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e @ebGHOe SMmedl&@wn ?

(1) student : public school (<ay) class school : public student

(@) school : student (/) class student : public school

Which of the following derives a class student from the base class school ?

(a) student : public school (b) class school : public student

(c) school : student (d) class student : public school

15. sefuQurfl eeelleaad afurs earpopweid GeaeGumpb
sl senEpaeaer SATETENSED SLALLPSsaD ums Gsliag :

(1) Lwireumed (<24) eumiLbeiv (®) @sflev () mésblyed
A computer network security that monitors and controls incoming and outgoing traffic
is:

(@) firewall (b) worms () cookies (d) wvirus

L@S - I /PART - II
aCsenib o damssEnsd o wafssab. daupdled efem erar 24 -&@

sevoTiqLILING eflenLwiafl&ge, L. . 6x2=12
’

Answer any six questions. Question No. 24 is compulsory.
16. SULé ams SEsuQumeows upd Hol GHOY rwss.

Write short note on Impact printer.

17. fréd ufGeu(® (Program Counter) GTATDTE) GTaE ?
What is a program counter ?
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18.

19.

20.

21.

22.

23.

24,

U Lwenflen @uiss BenoLiY erepIed Telien 7

What is a multi-user operating sy stem 7
QABTLbagHb j=20 wppid p=4 THDL p=pr 1 grgngan efler WSl ?

Initially j is 20 and p is 4, then what will be the value of p=p*++j:?

Srer o eLgge (Harvesting) GTIDTE) 6remay 2

What is Harvesting ?

Q@ uflwrer semiaw PeflsEEL Qs Aume (s SiBNG THSHSST ()
5@5.

Write the syntax to declare two-dimensional array and write a suitable example.

Qummer CrréE Frorsssdar GapuTr@adr wreae ?
What are the disadvantages of OOP ?
Qeans@p 2 MLILISET GTEImIe) cTear ?

What are called class members ?
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Answer any 6 questions. Question No. 33 ig Ompulsory

25.

26.

27.

28.

LA £
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LSS

M/ pppr - 1

So b, Seupiler eflenm eraimr 33 -G,
6x3=18

Wrrite the truth table and draw logic symbqj XOR gate.

Qereumauer LPH GOV euanys.

(1) au@@WeLLIL @@ bumesr (Network Indicator)
(<2) 06y @Miuumen (Session Indicator)

Write short notes for the following :

(a) Network Indicator
(b) Session Indicator

aufl (1) wpmid el (3) -é LHLNBEsES G m p@id n wrhlsafier LY
GTeuTeuT ? '
(1) mn:=410

) --m,n=?7?

3 mn =m+5 n—-2

4) --m,n=?77? | o

E/V)h t are the values of variables m and n after the assignments in line (1) and
a ¥

line (3) ?

(1) m,n:=4 10

) --mn=? ?

(3) mn :=m+5,n—2

(4) --m, n=7?7?

o ioog o

@anomHoLd ETETPTE erenen » o dTEH@D QEMOTDOS®SL Lpd dny G
ouTLDIT

UTE.

implicit type conversion.
What is type conversion ? Write short n0te &% implicit typ
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29.  Switch sapfien HLL@ET Qe TWH wiman LwLEHEET TIPS

Write the syntax and purpose of switch statement,
30. Gererorar SO DT T ? TREFEST D HMHS.

What is called nested structure ? Give example.

31. eep@Qurlurssy - eyl

Define Encapsulation.

32. @i @Qasgyeoa smlsEGL Curg, sauagfe CaTerer Ceuanrig.wenay

wrenal ?

What are the points to be noted while deriving a new class ?

33. Ganmaumd C++ flréd Qsr@dew Lgsg Weraumd elammésErs@ b wel.
class student

{

int m,n;
public:

void add();

float calc();

} x1,x2;
() Q@asGwelen e plLsmer saTLDS.

(i) x1 O x2 QurmmeTaEnEsTen flenareus ety wrg ?
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Read the following C++ shippet and o m
8

class student

{

Wer the questions given below :

int mn;
public:
void add();
float calc();
} x1,x2;
() Identify the members of the clasg.

(i) What is size of the objects x1,x2 ip, mMemory ?

U@&3| - IV / PART - IV

Sloesgl amssEpsEh ele welssaun. 5x5=25
Answer all the questions.

34. @@ sanlQuriuler eigliumL Ursksmer Ogefeurar elaTESUILIL SgL 6T

alleTdEs.

S|6V60F) .
19 emeu(meuUaTeUDHEND LDTDHNIS.
@ (19205=C( )
@ (1920)0=( )
@) (BBCe=( )2
Gv) (6213)g =( ) )
) @8) =( )i "
Explain the basic components of a

8

i8]

computer with a neat diagram.

OR
Convert the following :
@) (192050=( s
@ (192050=( )2
@) (BBO=( )2
Gv) (6213)g =( )
v) (@) =( s
[ Smuiys / Tum over
e ———
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36.

SI6V60F|

: L UTET BWEEEDS
ar Qm@@mmuﬂm Uig LU

M'W@é]
fa torial(3) ere) Qe
saan&salld
factorial(n) 0z
- - inputs : N1 an integ®"
- ourputs " f=n!
fi:=11
while isn
1 = f X i, 1 + 1 . .
fi: © of Distributed Operating System
Explain the concep OR

py-step execution of the algorithm for factorial(3)-
Trace the step-Dy-

factorial(n)

- - outputs : f=n!
£i:=11
while i<n

fi: =fxi, i+1

a=15,b=20; crafler EpsaET@ID Qeweur_yparer edleL wrgl ?

(@)akb  (@)ap (@) a"b (F) a>>3 (=) (*D)

I85!
C++ Qawpsafle WL ppald JMPSHD (PepHEL 5GBS ﬂ®§g$5WL®Lw
efleréEs.
Assume a=15, b=20 ; what will be the result of the following operations ?
(@) a&b () ap © a™b d) a>>3 () (b
OR
Explain call by value method using function in C++ with suitable example.
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Explain briefly the basic conce

13

YUuemLs SMHBS U

Pts of OOp.
G eéneu(mLd Hlreussren Qm@ﬂﬁ&:t\)mm JOR
er ,
Write the output for the following pr B8
ginclude<iostream> Ogram
using namespace std;
class nest
{
int x1;
int square_num()
{
return x1*x1;
}
public:
void input_num()
{
cout<<”\nEnter the number “;
cin>>x1;
}
int cube_num()
{
return x1*x1*x1;
}
void disp_num()
{
int sq=square_num();
int cu=cube_num(); ) 2
cout< <"\nThe square of <<x1;"<. |: <<sq;
cout< <"\nThe cube of neex1<<” IS T <<CU;
}
Y
int main()
{
nest nl;

n1.input__num();
n1.disp_ﬂum();
return 0;
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38. Qswup@Ef uesidl@Udhamer GJULbQ“‘i)GU)&)&dr wreneu ?
What are the restrictions on operator ovm-luading ?

DIVVG) /R
QarHsstiul_Herer Qeuafluiiigemeru Gy, & s s Hredled o e Ll pEEnaT
Qeowpdmesn Qsws
Debug the following program to get the outpyt

Output

Enter data

Name : Raman

Code : 1305
Experience : 25
Display data

Name : Raman

Code : 1305
Experience : 25 years

#include<iostream>
+ #include<string>
Class Employee

{
{ private
t’ char name[20];
int code;
public:
| void getdata();
; void display();
|7
Class staff:public Employee
{
int ex;
public:
void get();
i void display();
?? 7
| void Employee::display();
{
B cout<<”Name : “<<name;
| cout<<”Code : “<<code; .
= }
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void Employee::getdata()

http://gb365.in/ https://Www.qb365.in INaeeRie)
{
cout<<”Name : “.
gets(name);
cout<<"Code : “,
cin>>code;
}
void staff::getdata()
{
Employee::getdata();
cout<<”Experience o
cin>>exp;
}
void staff::Display()
{
Employee::display();
cout<<”Experience :"<<ex<<” years”<<endl;
} ’
void main()
{
staff s
cout<<”Enter data”<<endl;
S.getdata()
cout<<”Display data”<<end|;
s.display();
return O;
I
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